PART - 1 / 4T - |
~ “CHILD DEVELOPMENT AND PEDAGOGY / a1e fa&r 9 Riareme=

Direction : Answer the following questions (Q. Nos 1 to 30) by selecting the correct/most appropriate options,

Frdr - Freifafad To 3 (3. @@ 1 §30) 3 35 &7 & o Weh/aaw 3uger fawed giid/
1.  Kinesthetic learners prefer to learn through __- i,

(1) listening (2) seeing |
(3) touching (4) dqing._. and moving
gt frened ¥ e § drE T i ¢
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2.  According to Vygotsky’s theory of learning and ciégelnpment, which of the following is an example
of scaffolding ? .

(1) Demonstrating a skill to a student and then having .them master it on their own.
(2) Breaking a task down into smaller steps and providing support as needed.

(3) Providing a student with a grade for their work as motivation. ;
(4) Providing a student with a reading assignment and asking them to answer questions
independently.
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3. In the constructivist view : I |
(1) Learning is simply writing associations on the blank slates of our brains.

(2) Individuals are passively influenced by environmental events.

(3) Individuals are conditioned to learn new behaviours. |
(4) Learning is extending and transforming the current understanding.
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4. Dysgraphia is characterised by : e |
(1) Repetitive behavioural patterns _(2) Delayed motor skills

(3) Difficulties in writing (4) Lack of reading fluency
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5. ssertion (A) : Teacher should encoura ge boys of her class to participate in sports while assigning

art decoration to girls.
Reason (R) :  Childyen acquireggender roles primarily because of the.underlying, biological

| differences.
Choose the correct option.

(1)  Both (A) and (R) are true but (R) is not the correct explanation of (A).
(2)  (A)is true but (R) is false. '
(3) Both (A) and (R) are false.”
(4) Both (A) and (R) are true and (R) is the correct explanation of (A).
(A):  Frfermn 1 art e % crei 1 el & 9T O 3 Ferw et e =i 7 erehedt
— I hell STehIw 3 i o =e | . i
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6. Inclusion needs to be promoted through :

(1) Flexible curriculum (if) Cooperative learning

(1ii) 5_ng egation and labelling - (iv) Accessibility of building
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7. In order to cater to needs of students struggling with Attention Deficit Hyperactivity Disorder
teachers should avoid : |
(1) Using multi-sensory materials
(2) Creating distractions and making noises
(3) Flexibility in curricular materials and instructions
(4) Breaking the task into small easily manageable parts
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8. According to Howard _Gardne'_l_j while a scientist would exhibit high Intelligence, a
sculptor would have high ___ Intelligence.
(1) ~ Spatial; Bodily Kinesthetic.. (2) Naturalistic; Spatial
(3) Transductive; Spatial - (4) Logical-mathematical; Bodily Kinesthetic
giaE MR STTAR T Sl _ 95 1 I VI FON Sk T G 3
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9.  Assertion (A) : Effective teachers familiarize themselves with daily lives and sncin-fultural

backgrounds of learners.
Reason (R) :  Learning takes place in a social context.
Choose the correct option. _
(1) Both (A) and (R) are true but (R) is notthe correct explanation of (A).
(2) (A) is true but (R) is false.
(3) Both (A) and (R) are false. - S enlanation of (A)
(4) Both (A) and (R) are true and (R) is the'correct exp 0 - _
afuemer (A): W e gg it Ruenfefi & f S it S AT giepas JeE |
TR (R) : Wra v gt dedl H g e
el faehed I s
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10. Piaget described cognitive development as Occutr %2) & oniiiinons eontintgem

1) Three progressive levels ous ' _—
8 Four {:Erer%;pping culture specific stages™ (4) Four qualitatively different stag

S 3 G {1 e gehr Ui fehdll &2

11. Two importantcognitive development milest

lopment are : = | |
¢(511E;VE El?eversibﬂity of thought and hypﬂthetu;_:deducuve reasoning

(2) Animism and Transformation i
(3) Classification and seriation .

(4) (;:_bjt?ct permanencea; and c}eii;rr;;iﬁ imitation - ‘ P
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(2) e SR IRE
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12 . h of the following correctly describes extrinsic motivation ?
' (1) Motivation that comes from internal factors.

(2) Motivation that comes from environmental consequences.
(3) Motivation that comes from a sense of -personal satisfaction.
(4) Motivation that comes from personal enjoyment of the task.
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13. Meaningful learning is primarily NOT about

\ (1) developing skills (2) memorizing information

- ©) understanding the concept (4) constructing knowledge P, =
aﬁiﬂfaquﬁ@:mﬁma;aﬁﬂﬁ%? | |
(1) R 7 e @) @
() HTEROS it ey (4) - T 1 Fmfor

14. P;CCGrging to Vygﬂtsky children speak tnij_lghé}nselves :
(2) eca*.use their thought is illogical. -
(2)  To aid thought and for self-regulation.

3 1 . E
(4) To provide self-reinforcement when-adults are ignoring them.
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15. Which of the following statement represents .’ Proximodistal” principle of development ?
(1) Children develop ability to sit up before standing. |
(2) Development is multidirectional anﬂ__mlﬂﬁdimensinnal.
(3) Identical twins living in different cp_l_tﬁ.?es can develop at different rates.
(4) Children develop ability to grasp tl_j'é balI before putting beads in thread.
Frfafed ® 9 =i o1 wom fawm & “wiu-gufinra’ fagui =1 wRififre s 22
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(4) wifqdl 1 o 7 filA | 58 o= 7S i Uhed wit ama feag w3 3

16. In developmental terms, a time frame where an individual upholds an amplified sensitivity to
particular incentives for developing particular skills to function in an efficient manner is referred

to as of dE?EIDpII'lEI‘lt. B
(1) Encoding period (2) - Incentive period
(3) Stimulus period (4) : Critical period
fereprar & el H, U THA WA e U e fafire saronet & wit vt gaesiem e & il
fip € Fue Thh 9 F F o fodiy S fomfaa = o, o8 e /@ FHEATS Wt
(1) FeerE/THIET 37afy (2)  virwTEa erafy
(3) IAH qafy \_(4)—rdrgel erafy
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g b8

ided by the teachers hinders the learning process of children.

Assertion (A) : Scaffolding prov ‘
by acting upon and

Reason (R) : Lev Vygotsky proposed that children learn independently
manipulating the environment.

Choose the correct option : i 3
(1) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(2) (A) is true but (R) is false.

(3) Both (A) and (R) are false. . |

(4) Both (A) and (R) are true and (R) is the correct explanation of (A)- l

FRTHAT (A) : ﬁaﬁmmmwwﬁﬁmﬁﬁmﬁwgﬁm%' | |
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18.

19.

Pt LA g
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Children -
(1) Com

e into this world as tabula rasa or blank slate.

(2) Are born unruly and need to be socialized.
this world with genetic codes that determine their destiny.

(3) Come mto -
influenced by the social cultural context they grow up 1.

(4) Are greatly
= -
(1)
(2)
(3)

sﬂmﬁ‘aﬁﬁﬁ’m‘ﬁq@'%mﬁmﬁl
aﬁﬂﬁﬁﬁﬂﬁlﬁ%mafa’ﬂmﬁﬁ%ﬁ T STEYIRT erdl ¢ |
sﬂgﬁmﬁaﬂﬁwzﬁ‘é%mﬂaﬂﬁ%ﬁl 3Rt Fafd 9 $d € |
mmﬁﬁaﬁumﬁﬁaﬁ%mﬁﬁa@aﬁ%

oes individual’s ethical behavior mainly depends
i ?

ch level of Kohlberg's moral development d
mindset that “what do people think of me
(2) Postconventional

At whi
on the

(1) Conventional
(3) Non-conventional

ﬁm%%ﬁ%ﬁmﬁmwﬁmm wﬁﬁmwa@mﬁwmmwmﬁﬁm%ﬁ4
oM AR I EEd § 7

(4) Preconventional
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90, Assertion (A) : Children below the age of 5 - 6 years should not be pressurized to write ‘properly’
and ‘within the lines’.
Reason (R) :

Children gain a control of finer motor skills from 5 - 6 years onwards.
Choose the correct option.

(1) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(2) (A) is true but (R) is false, . i

(3) Both (A) and (R) are false. £ )

(4) Both (A) and (R) are true and (R) is_:__théh._cmrrect explanation of (A).

R (A) ;éqﬁﬁfﬁmqgga;aﬁaﬁ;%@[' AR Y@l & iR feraa & fere e 781 s

| S
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(1) (A) 3R (R) A4 T ¥ wifer (A) F (R) T =T T T ¥

(2) (A) W&l & AfF (R) o 3

() (A) 3R (R) I Torq &
\ A8 (A) 3R (R) 3T W& ¥ iR (A) 5t (R) T =men s 3

21. Assertion (A) :

e

Teacher should distance themselves from students and place primary
responsibility for learning on them only.

Leal_'ning takes place affectively in an authoritative rather than a democratic
environment,

Choose the correct option.

(1) Bﬂﬂ} (A) and (R) are true but (R) is'not the correct explanation of (A).
(2) (A) is true but (R) is false. -

(3) Both (A) and (R) are false. o=

(4) Both (A) and (R) are true and (R) is-the correct explanation of (A).

AR (A) : ﬁaﬁﬁmﬁﬁgﬁm@fﬁﬁaﬁqaﬁtﬁwﬁmmﬁﬁmﬁﬁmw

-

e i
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e foreheg 9
(1) (A) 3 (R) SF T2t T @fFA (A) FF (R) Tt ame =& & ¢
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Reason (R) :

L37—(A) 3iR (R) ST Terd @)
4) (A) 3R (R) S W&l T 3R (A) Tl (R) HEl =1 T ¢ |
22, Mastery Oriented learners typically attribute success to and failure to
(1) ability and effort; insufficient effort (2) ability and good luck; task difficulty
(3) ability and effort; bad luck ©+(4) ability and good luck; low ability
TeRd IqE foenedl SR T HEId B A I S0 § 3R TG i |
(1) e i IR S R - (2) A SR st e w e
Loy e oiv AR wE R () A 3R arsdt fer; for e
Challenges in social communication are Qv_i:nient in :
(1) Learning Disabilities " (2) Attention deficit hyperactivity disorder
(3) Cerebral palsy _ = (4) Autism Spectrum Disorder
s TR gl fRaH TR gt § 20
1) s e A Q) I R SR R
() wferes gaTET A (4) TEelE T fawr #
T 7 I
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24,

r

Children often come up with their own explanations of events around them. On bei_ng probeq ,
to why does it rain Sia says - “God was tired of carrying the buckets of water on his shoulderg

Such explanations : _ _
(1) Indicate that children have naive understanding rooted in their cultural context with whj,
they try to understand events. | o _ _

(2) Depict that children have an egocentric view and cannot consider other’s viewpoint.

(3) Illustrate that children are not capable of any reasoning. "

(4) Prove that children’s thinking is much lesser than adults quan_tltwely.

oY ST ST ST -TTE eI F ST S S T ¥ | S i g €, 98 O A W
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25.

ﬁ aﬁﬁm 31_{% % | .,f.im.-!:r-u
2) fafa = g s qﬁimnwaﬂ%@ﬁémﬁaﬂ?éqﬂiﬁimmﬁﬁﬂﬁmm
3) T il € for o= Ik e H e AN €
(4) e et & o o e ) ) o AT € 7E F T .

! i i _vear-old bov picked a doll to play with. Some of his pee
E'::;l?%unrﬂz}; }ﬁhﬁefz: iﬁ?iiﬁiﬁ?’fﬂ&; ig a teacher *afrrhl; wants his students to grow up with gz:l:d
role flexibility, which of the following would be the best response to the situation bﬁe teache:
(1) Quitely take away the doll and give a car toy to Rishabh without saying anything.

: : : uld not play with dolls.
9}  Talk to Rishabh that dolls are suitable for girls and boys sho not [ 4
ES; Tell Rishabh that he should play with something else because his friends won't approve

him playing with doll.
(4) Let Rishabh play with
choice. . %

| Qe 3 ITF FT Gl 7
fagae™ A w,mﬂ,@7aﬁﬂﬁg¢%@aﬁ$mﬁﬁ@ms§ﬁl ‘ J
wwﬁ%?ggﬁ:%ﬁmmwmigﬁﬁ%ﬁmﬁﬂﬂﬁﬁ%ﬁm@mﬁw
Wﬁmamaﬁm%ﬂ%wmﬁﬁﬁmﬁ-rﬁmﬁﬁW—ﬁmﬁmﬁq?

Fe T[fe ﬁmﬁmﬁw@ﬁmwaﬁ@aﬁﬁ?Wwﬁﬁﬂml
g; ?ﬂ?ﬁﬂﬁﬁ@ﬁ@%mw%ﬁ@ﬂﬁ@m%mﬁ@

:E'El@rmamﬁagw ﬁé"%%ﬂ%%ma@ﬁmmaﬁﬁﬁmﬂﬁ%ﬁﬁ
jfétn%'mﬁr'@@n

doll and téllother children that they can also choose any toy of th

(3)

Wﬁﬂﬂg@%ﬁﬂﬁﬁﬁﬂ%ﬁﬁt@aﬁﬁmmﬁéﬁaﬁw‘am@éﬁ

26.

<7 Thd € |

In order to help students to become good problem solvers, a teacher should emphasize on

Ff)amzn{ife;mg only on one particular j’:’ri‘égiz of information related to problem.

(2) focusing on information that confirms existing beliefs and preconceptions.

oaching problems in a particular fixed fashion.
Eig lifeparkMg lalggle} complex problems into smaller manageable problems.
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97. Children learn better if the

(g) ;Iea:]ned helplessness (2) Low level of alertness during activity
(3) oderate level of excitement to learn (4) High degree of anxiety to perform

= S STV i € o e w9 @ e 7
(1) S e (2) Tfafafy % SRE = W) vk
@) W e e vy e 0 ¥ g v e
28. Lawrence Kohlberg argued that - =

(;) mETEIH;E gender differences in moral reaﬁénmg of children.
(2) mora evelopment in children occurs in:a continuous manner.

(3) there are cultural differences in moral reasoning of children.

(4) moral develnpment occurs progressively. in stages.

ANY higeTs J weh feroyy & i

(1) ﬁ*ﬁﬁ?ﬁﬁﬁ'ﬁwﬁaéﬁ%l

2) ﬁiﬁmmm@mﬁl
(3) = T ¥ Witpfas i BN §
\,(Q——ﬁrﬁﬁﬁwqa?ﬁmﬂwﬁﬁﬁm%l

29. Assertion (A) :

Y experience :

'_Teachf:rs should use multisensory materials to cater to needs of students in an
Inclusive classroom.

Inclusive classrooms should adopt standardization of curricular materials as well

| as assessment strategies.
Choose the correct option :

1) Both (A ' :

§2§ ) is(trlzllli t(I({I?{)air:f;E; but (R) is not ’rhe correct explanation of (A).

(3) Both (A) and (R) are false.

(4) Both (A) and (R) are true and (R) is the correct explanation of (A).

AWRYIT (A) :  TH THEN e | o SIS <l I T % o fnerp! =l sggast T =0
SUART AT =M | ”

%IUT (R) : FHTCIRT SFEISHT T IS Tt 3 HIehIH] o S-S Todich WRTE 5 TR
&l 37T <1feu |

(1) (A) 3R (R) T &I € AfhT (A) Tl (R) 9& == 718 e &1

\_2—(A) ¥ & A (R) e 2
(3) (A) 3R (R) Sl e €
(4) (A) 3R (R) SH T8 T 3 (A) HF (R) & =amen & T
30.  According to Jean Piaget a child who is unable to understand the logic behind simple mathematical

reversals such as 4+5=9 s0 9—5=4, it is because of :

(1) perceptual centration (2) animistic thinking

(3) irreversibility (4) = egocentrism

ST gy 3 STTER T o= S W MO Sehiol S 4+5=9 M 9—5=4 % W % 5 $) oz A

srmef ¥, g HE : e

Reason (R) :

\___(1)—3fauRucHe harehl (2) et =
(3)  erafed=fraa (4)  SeeRf=T
Pt 9 | :
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PART - 11 / ¥R - I
MATHEMATICS / 7o

Direction : Answer the following questions by selecting the correct/most appropriate options.

T : Frefafaa goi & 3w a7 % o0 qg/aad Suged fawed e

31. Which of the following is most appropriate for including open ended questions in mathemati
class ?

(1) These questions are not easy to copy from each other
(2) These questions develop critical thinking in students
(3) Answers to these questions are not given in the book

(4) These questions take more time to solve

nﬁmaﬁmﬁaﬁm&aﬁwﬁaﬁwﬁaaﬂﬁ%mﬁmﬁmﬁﬁwme%?

\__(1) 59 Wi 1 Toh-gER | el RO TEH Tl §

(2) A v fernfea 5 ST fedd 1 fae™ & €
(3) = qeAl 3 IR gEi H el (ST B

(4) = YAl I 7 HA § G e T
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32. A primary class mathematics teacher gave his students the following problem to solve :
“How many classes of 28 pupils would be needed for a school of 616 pupils ?”

One of the student solved the problem in the following way :
1 Class =28 Pupils
105280

— 10+10+42=22 Classes
Which of the following is most appropriate for the algorithm used by the student ?

(1) The student has used the distributive law of division across addition to solve the problem
(2) Thestudenthas used both the distributive and associative laws of division to solve the problem
(3) The student has used an incorrect algorithm to solve the problem

(4)  The student has used the associative law of division across addition to solve the problem

T <RE % o T 3 finerer ¥ sty Rereno Y Fretferfia e @ o 3 9

616 TNl % et % for 28 foenferit aret Bpaet wenat o3 ATy et 2"

10 —» 280
560
2y 1. 56 — 10+10+2=22 F&M0 .
616 '
Fefafed | foenefl g S9dm 1 1% Femfafy & fou SH- we s 2
(1) fomnedl ¥ 99en &6 & & A 90 W favrem & faawon fram 51 sqdm fagr &
Lm\ﬁim%ﬁ“—‘rmwwﬁfmﬁw%ﬁwﬁhwaﬁﬁmﬁmwm%
(3) feremefi 7 TwE & F F U U o swemfaty sy fgn ¥
(4) foreneff 3 g T Tk 0 A R favrsm % qeard frem w5 sw@m fea
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33. In class III, 150 children were asked to name their one favourite fruit and results for 5 favoy
fruits were written in the form of the following table :

Name of the Fruit | Number of Children
Apple 28
Guava 26
Mangoes 44

Banana 14

Grapes 28

Choose the correct option :

(1) Ten children do not like any fruit given in the table.
(2) Equal number of children have Apple and Guava as their fa
(3) The difference between the number of childrens who like grap

is 16.

(4) The number of children who like Mangoes

who like Guava.

vourite fruit.
es and those who like bananas

and Banana is two times the number of children

¥ aR & g1 T AR 5 T el % R i T i

H 111 150 S=dl 9 3 qdeiel Th %l

T o T4

Wl hi ATH el <hl &l

= 28
HAHES 26

— 44

el =

3:@: i 28
& faered Tl gL

) 10 =3, T afere § e e Rl
A~ (2) ﬁaﬁﬂwmmﬁmﬁaﬁﬁﬁﬂww%\
1 G) W@?ﬁﬁﬁwﬁﬁﬁaﬁqmﬁqﬁﬂmaﬁmmm%l |
¥ (4) Wﬁ?%ﬁmﬁﬁwmaﬁm,mmﬁnﬁﬂilﬁa—ﬁﬁﬁw‘ﬁm'ﬂ-ﬁg{[ﬂ%l
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34, The product of the predecessor of 201 and the successor of 4781 is :
201%@@?4731%%3}1%%:
L R (2) 965560 (3) 965650 (4) 956200

35. Which of the following statements is NOT true with respect to the concept of Fractions ?
(1) The mathematical notation of a fraction can be represented as a division problem

(2) Itrepresents a part of a collection of same objects 2.9
(3) The mathematical notation of a fraction can be represented as a ratio

(4) Itrepresents a part of a whole which is greater than 1

firl =l STHRN % et N fotferfiaa # ¥ FH-91 B9 6 T8 87

(1) T H fordta e (Siem) we favrem waen F1 Fefe w8 & fn e s a2

(2) 9% CF WHM Gl At Ty % o i el e @ b

3) T T4 =1 foriy fare (ARvA) w oYM % w0 H Frefua o < e &
\_A—FTF U 1 T 9 Frefug s € S 7 A s e

QU o
36. The sim'allest four-digit number which is a multiple of 6, 7 and 4 is : U2 g
=R ST T T =ATH T, S 6, 7 3 4 1 O T, e 2 nce
(1) 1002 (2) 1006 \—3—1008 (4) 1000 s
j"‘ﬁ-‘
1 | ; Lfb o
37. A child solved a problem : E'i' 3 5 YVhatis the most appropriate inference drawn from the

solution ?

(I) Child does not know how to take L.C.M.

(2) Child does not know how to represent fractions on number line

(3) Child has extended the concept of addition of natural numbers to addition of fractions
(4) Child does not know addition of numbers

| e &

£ 1 ¢ o
U g 3 999 B TRl : E+§=§| ﬁ%ﬁ@ﬂﬂﬁ@%ﬂﬁ%q (MeRTel ST Tohell © 2

(1) == bl oTead FH9acd o1 Tel 31161 §

(2) s el s foh fa=T <Rl HEeE e WS e famn s @
\@\aﬁﬁu@ﬁﬁmﬁ%@gﬁﬁ TAYRON ! T9=11 & S a fowafes fea &

(4) T3 I HEATS Bl SIS Tel STl &

SPACE FOR ROUGH WORK / % &4 & few wg

U8~

¥ 0 0o
06 660 B
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38. According to National Education Policy 2020 Mathematics and Computational Thinking is to
given increased importance as : |

(1) It is foundational to human survival

(2) It is foundational to evolving technologies like Artificial Intelligence (Al), machine learnip
and Data Science etc '

(3) It can be a substitute for a teacher
(4) It is the most difficult aspect of learning in school

T e i 2020 T ik FregevEe de & wecd P FeEl <l € I :
\_—D)— T8 "4 i & o geya @

(2) % TSTE (AI), TR @i oIk T2 wEy onfs Skt Suwet g qARI Hl SER T

(3) % U FNI&eh 1 WM & Tohel ©

(4) I8 Whol H Hi@- & a4 hicd U8c] ©

39. What is the result when 7 kg 7 g is subtracted from 9 kg ?
9 kg H ¥ 7 kg 7 g hl HM T F1 YRUMH YI<l BT & ?
) 1.993 kg (2) 1.93 kg 3) 1.093 kg (4) 13 kg

like four candies and three candies, but when asked
learners is unable to do so. What 1s the
to National Curriculum Framework

40. Most II graders are able to add two quantities
to do 4 +5 on a worksheet a large number of the same set {.jf
most appropriate explanation of this observation according

2005 ?

(1) Some learners are poor in mathematical skills
life mathematics

(2) Learners are not interested in learning real-
mathematical symbols

(3) The learners are not ready for the use of abstract
(4) Learners are not taught addition properly

S aiR A H St < T Sired # 9e 2 8, AfRd o aehdiie T

¥ TR S 1 BRI T ?

(1) wﬁ&mﬁnﬁﬁlﬂﬁwﬁmﬁrﬁ%

(2) Forenref STEafaeR oM i@ § w9 e W@d €

(3) ﬁmﬁWWW#W%WWHﬁ‘%%

4y fonenferai s =i e & T e e &

SPACE FOR ROUGH WORK / % @14 & fow wrg
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41.  arding to their attfi bfé?i;ﬂg:;ﬁ;::ﬁzlsl}?l that help students to recognize and group shapes
S;ﬁ Seriation (2)  Conservation (3) Decomposition (4) Classification
i Waqgaﬂ H‘:*”ﬁ:[ﬁm"q* *‘QIG%TT ST ferenfola o fodtnati s ol % TER ATHfa1 1 Tearm aiR
1) shHASGl 2
1) (2) s (3) 3T 4y affertom
The difference of th 600
12, i aﬂ:?p%lace values ?f O and 7 in the number 352876 is o 5}%
: e VAT WY 61 e & =
( (2) 49997 (3) 50007 \(4)—49930
A 31d standard stud .
43 < “1005". This indii::é:t?;? fisked to write one hundred and five in numeral form, s/he writes it
(1) s/he is mischievoys
(2) s/he ITEEdS THDIE help in understanding the concept of place value
(3) s/he is unfit to learn mathematics
(4) The student is a slow learner
M?zmﬁwﬁgwwﬁqﬁﬁ % 6 T H o =i e S @ 9 38 1005 e /
(1) 9% IR §
\_(2) S¥ T A 1 STeuRen S wwen § 3R qemd 5 e § L5
(3) <©© TiUrg d9iRgd H ey
(4) foEnet dian § s g
44, Wh;:ifh D;'IE' of the following is the most effective way to introduce the concept of area to fourth
graders
(1) Abacus (2) Formula based method
(3) Approximation and Estimation (4) Tessellations
Aot e % =] bl & I STTHRON § YR F 1 qad quret qlieh -1 8 ?
w (2) 9 s fafy
(3) Hfehed 3R A (4) EeRM (TEfT)
3 SPACE FOR ROUGH WORK /1% &8 & fot se
- I
el | [T e
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45.

46.

47.

48.

49.

The sum of the greatest and smallest six digit numbers that can be formed from the digits 5, 9
8 and 6 (without repetition) is : N
S 5,9, 0,2, 8 36 A (Forl TRradt ) 6 3iehi 1 oG o T A Hed ag SR FoH B

(1) 1292209 (2) 1192290 A3 1192209 (4) 1292290

The missing numbers in the pattern 12, 14, 17, 13, 8, 14, 21, _, _ are respectively :
Y412, 14, 17,13, 8,14, 21, _, _ ¥ g <) &AW HAU: © :
My 12,3 2) 14,5 3) 13,4 4) 157

a square also has two pairs o

asmine said, “A rectangle has two pairs of opposite sides parallel;
J 8 P pPp P tangle and square are als

opposite sides parallel and so does a parallelogram. 5o, both rec
parallelograms.” - =
Jasmine is at stage of Van Hieles theory of geometric thinking.
(1) Relationships (2) Formal Deduction
(3) Visualization (4) Analysis _ _ \
SIH | e, U orad ° faudia St o <1 g HHldint@ﬁ%;Waﬁﬁ_“ﬂw gmaﬁﬁﬁf?jf
TR B E ol S R T G g & ot | e s i e < € qeeie Jgs g
STEHH, 39 T & fagid & safhdE e & T T

\—)—FaYi kil A (2) o=t FH
(3) TEEfE (4)  foreere
Which of the following letters has two lines of symmetry ?
i A 3 forg s1ar &t Q) wAfAfd W@ €2
(1) B (P} E @B U Ta]

| Curriculum Framework 2005 mathematics teachers need to shil

According to Nationa

towards : ‘ | | |
(a) Promoting memorization and rigorous algorithms

(b) Mathematical reasoning and logic
(c) Becoming sole authority for right answers

o d ) T @ Ony®) () Had© @& Ony)

n@ﬂmﬂmmﬂs%@ﬂnﬁm%maﬁﬁsﬁaﬂiww%&nm{l‘iqﬂ STEd ©
(a)ﬂ S 31 e ®9 W UHNGH i Sgrel Gl

(b) i ek ferer :

(c) G I % fog THA CIPEIICEE]

'ﬂﬁﬁﬁﬁﬁ

[ (a) ST (b) (2) e (b) () (b) #(Q) (4) 9 (a)

P-

T 16
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50.

51.

52.

A triangle having all sides of different lengths is called :

(1) Anisosceles triangle (2) A scalene triangle
) MUt biangle (4) An, equﬂateral triangle

WWWWWW~WWH#W% FHEedl © :

1) T THETE By L_(zj\qabﬁﬁﬂﬁ@'ﬁﬂﬁl
(3) T HEHI Tyt (4) Wwa@ﬁaﬁr

e
Which of the following is NOT related to Indian'iathematics ?
(1) Charak Samhita (2) Sm'-ya Siddhant rl
(3) Baudhayan Sulba Sutra (4) Lilavati
frafetied H & HH-T1 wRelr 7o @ weifid T8 &7
(1) T S @ e
) T Yo (@) et

Which of the following statements are true with respect to ‘Data handling” ?

(1) A bar graph displays data that changes continuously over periods of time.

(2) A line graph is used to show comparison among categories of data.
(3) A histogram is used to compare the parts of a whole. |

(4) A graphical representation of data is easier to understand when there is a trend or comparison
to be shown.

‘Hferel =1 yeiuA' & day ¥ frefafed § 9 -9 w6 82

) T Te-E T S T HAl 8, Sl THA % H-TY TR 6 T < |

) T - siiwel i fafue AR % S ger T 6 w5 ST B |

) e s Tt fenelt w Wl % fafyr il Bt ger T o fore ST fefe S €

@) it 1 STOE GRT GY WS H Sgd ST Sl 3, ST 6t SRS 1 FH A G fwr

—
2

Pl A 17
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54.

7 a2
14 8 RELEY.
dE9o " 7 24
” + AR CARIE I
> 3 5 3
1) 35 (2) #22 By ¢ (4) 11

Which of the following is least appropriate abou;t Formative Assessment in mathematics classroor

(1) To identify students” conceptual underatﬁﬁdhg

(2) It helps to identify students” misconceptions

(3) It provides cumulative evaluations that helps to rank children
(4) To check the progress of students during instructional activities

ford T e F P § § E-w T SRer % AR # e % ST €
(1) foenfeiai &t STauRUNeTs THH i Tedr Hl
(2) e faenfa=i =t wifael i v FT T TErIdl Ll ©

\_(3)—7 Telt G Sues e § St R a=al 1 A0S T H TG HLdl §

(4) ﬁ%ﬁ%%ﬁﬂﬁ%%ﬁﬂﬂﬁﬁmﬁﬁﬂ

- his bank account on 4% of a month and deposited X 2,567 on

55. A person withdrew ¥ 4,560 fro :
of Ishe same month. If at the end of the month; balance 1s Z 3,125, then money (in ) at the sta
the month in his account was :

T Afad A o S @ F Y frd wEY F1 4 TRE W T 4,560 Fre SR SHt HEH H 20 TR
= 5 567 ST U feu | 9 TE % ofd H 39 @ 4 3,125 I g T, Ol HeM o URY H 394 @
fopat eaf (X H) o ?
(1) 5,213 (2)8%5,128 (3) 5,118 (4) 4,998
56. Which of the following has a definite length ?
(1) aline segment (2) aray (3). a plane (4) aline
o i g feg &1 T fafyea o 2kl & 2
\ @ @Es (2) TH fopm (3). T UHae (4) T @
SPACE FOR ROUGH WORK / T &Td & foa e F
P-1 (IO 18
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(3) 311 (4) 221 ‘J\a

g. | Radha walks 3 km 77
5 2 km 9 m per day on Tuse M per day on Monday, Wednesday and Friday, whereas she walks

- sday and Thursday. Total distance covered by her from Monday to Friday

T GIHaR,

. ﬁu—q"g 3R AR ¥ 3 kim 725 m ST &, Slfeh HTETR 3R FeefiEar Fi a7 wife
1) 16.202 k | o ? Sl s A

( i () 15355km  (3) 151%Bkm  (4) 16.975 km

59. How many planks of s

e and 40 o kaSI?EE 2m X35 cm X 8 cm can be made from a wooden block 8 m long, 70 cm

8 m T, 70 cm 9re : =

i i ,Gﬂ'{ﬁlﬂcmfﬁ%mmlﬁmﬂmﬁzmx?ﬁcmxchma@mﬁtﬁgm
1) 4

(1) 48 (2) 45 (3) 40 (4) 50

60. Students feel difficulty in solving division problems because :
(1) Students do not like the sign of division.

(2) Division problems have no utility in daily life,
(3) There are no informal ways of solving division problems
(4)

For solving division problems students need to know
thoroughly .

farenfel=i sl wrT 1 99 e w0 § HierE o ¥ =it
(1) foenedt v =1 fos 96e =& &
\,«@ YT 1 THEAST i SfHe St | g 3UAIfTa e &
(3) T St AHEAAT <l B L o U i sHT=ies s fafai et o &
(4) T T N & A o I 7% stewae @ o faenedf s, e oiR on e o e A s o

addition, subtraction and multiplication

SPACE FOR ROUGH WORK / 1% &1d & fow s
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PART - Il / 9T - 11
ENVIRONMENTAL STUDIES | qiaRoT AT

Direction : Answer the following questions by selecting the correct/most appropriate options.

FIT : frerfarfan Tt & 3w 23 % forg e/ Suga fawed gi7e

61. A teacher of Environmental Studies, while conducting an activity with some chﬂdiﬂ,fﬂﬁser?ea
some important incidents and also makes a descriptive note of the same. Which of the following

may be the tool of assessment ?
(1) Portfolio (2) Observation List

(3) Anecdotal Records (4) Rating Scale
iRl STeTE 1 UF s §S S % iara ey R & QR @qﬁﬁ{ﬂfﬂﬂaﬁﬁrm@ﬂﬂmf
GRIESIED %avhﬁqa?ﬁmﬁmfeﬁaﬁm%lﬁmﬁrﬁaﬁﬁﬁw-mwaﬂaﬂmaw%.

\/g-y—thitﬁrﬁ—lth (2) el g

(3) SUEANHS 3AfHed (4) fém whed

62. Mohan is a class V teacher of Environmental Studies. He writes the fL:luﬂWing activity on the
ty of water at the time of your parents anc

blackboard in his class. “Find out about the availabili - T3 e
grandparents and compare 1t with the current situation.” For the above activity, which oI th

following strategies would be most appropriate ?

(1) Interview (2) Role Play (3) Project
Hied e 5 ol T qaial awmmﬁm%u%mﬁwﬁﬁmﬁﬁ?ﬁwﬁﬁfaﬁmmm
g “aﬁw—ﬁmﬂm—aﬁ%wwﬁaﬁwﬂ:aﬁﬁwaﬁ iR 3Tt adAE feafd | g

aﬁa”mﬁaﬁnﬁﬁﬁ%mﬁwﬁrﬁaﬁﬁ@ﬁﬁﬁmﬁmmﬁﬁr@nﬁ?
(1) WIETERR (2) ftrRt e (3) ORI Umm

m, which of the following is NOT seen to be happening 4

(4) Discussion

63. In a constructivist EVS classroo

(1) Children’s experiences are being respected.

(2) Children are just solving familiar problems.
(3) Children are using their experiences to make new connections between concepts.

(4) Children are learning by doing activities with concrete objects.
wmawaﬁwmﬁﬂwﬁ,ﬁmﬁmﬁﬁﬁqﬁﬁmqﬁﬁgﬁ@éaﬁ%?
(1) =i % SrvE 1 FEE T S ©

(2) == fad < TEE Hae g F R T

(3) d9 FAURIISAT ot Y 753 HISAl I SIS H ST ¥ ST L @ &

314 Al T R i e w e

i
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Rakesh 1s a teacher of Environmental Studies of class V. He asks the children in his class to do an

activity. In which, a] children observe which “object floats in water and which sinks In water” ?

After the activity some children ask the teacher why some objects sink in water and som

. ' e objects
float in water. What ig the most appropriate thing a teacher should do in the following situaglun ?

(A)  The teacher should tell the children that this is happening because of the density.
(B) Give each child the

freedom to observe, record their observations,

e and interpret those
(C) Provide OPPportunity to each child to hypothesize, test and make activity based generalizations,
(D) Teacher shoylg Say that the main reason for this

you will understand in your higher classes.

A (O S Q) Qand D) 0) (A) only (4) (A), (B) and (C)

(A) ﬁmaﬁaﬁﬁﬁmmﬁﬁm S o SRR B W&l B |

(B) mﬁﬁﬁﬁwmﬁ,MﬁmﬁﬁﬁmﬁﬁﬁWﬁwmaﬁﬁaﬁmﬁﬁl
(C) Wﬁﬁwﬁmmmﬁ,nﬁmaﬁﬁﬁﬂﬂﬁrﬁmaﬂmﬁamw%wwmﬁl
(D) TRUET I 9 & =ifeq fF S5 g1 $RU 371 319 aSl hEme TS |

H BWCQ) @ OO @ Q) @) (A), B 3R (©)
65. nsider the following statements A and B.
ement A : In 1969, Neil Armstrong was the first man to walk on the moon.

Statement B : In 2007, Kalpana Chawla set a new record for the longest space flight by a woman.

Select the correct code from the following :

(1) A and B both are wrong (2) A s correct but B is wrong
(3) A is wrong but B is correct (4) A and B both are correct
= few T HeE A 3B R =R Hifs .

FAT A :  T11969 H el STHEIRT =g R A a1 Hod Tgat =af o
FUT B : G 2007, § HEH =G SFARe § G ool G dh W@ ATl TR Hfger of |

Freferfia & @ W& F1e TFC :
(1) A B 3 T € (2) AWE T I B e ©
() ATew ¥ T B E (4) A RBIF T ¥
ST 21 :
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wed. Read the statements carefully A .
\/3
| Studies is theme-based and each theme j

66. In the fnlluwmg question, Assertion and Reason are follo
choose the correct option from the following :

Assertion : The curriculum of Environmenta
interreleted. '
Reason : The main reason for keeping the syllabus of Environmental Studies them_e-b ed
is that it creates a deep understanding of each theme and each theme begins mﬂ-.-:il
questions. .
lanation of Assertion.

(1) Assertion and Reason are correct but Reason is no
(2) Assertion is true but Reason is false.

(3) Assertion is false but Reason is true.
(4) Both Assertion and Reason are correct and Reason is

frfafaa v ¥, SRR 3 HRUT F 3R TE T ¢ | FHEAl bl A

faeheq &1 =999 Y

SRIFHYT ;ISR LI dieadl iy g7 ST § SR Tceh i

HIUT: e TR ¥ el E) o S TE B e T
ﬁﬂ%ﬂmaﬂﬁ%ﬁﬂﬂaﬁﬂﬁﬂﬁaﬂﬁmﬂ%ﬁ%l

\ () 3o SR RO e € Sifh HT, stfirerer #1 TEl A T €
(2) NRIHYT T & Afh HIOT ST €|

(3) RTHIT 3T & W HIUT T T
(4) R 31X SHI0T el & 3R hRT, SRy I el el ©

67. In the following question, Assertion and Reason are followed. Read the statements carefully anc

choose the correct option from the following :
Assertion : In the lessons of NCERT’s E
common life, everyday proble

have been kept.
Children can debate openly on all these problems, be aware of the problems, b

sensitive to them and make correct understanding.
Assertion and Reason are correct but Reason is not the correct explan

the correct explanation of Assertion,

@rtr%ai‘hﬁmfc'fﬁaﬂﬁﬁﬂﬁ

m:ﬁﬂﬁﬁl
FRU1 & foF 399 W dIF

Svironmental Studies textbook, real incidents o
ms and some burning problems related to todaj

ation of Assertion.

(1)

(2) Assertion is true but Reason is false.

(3) Assertion is false but Reason 1s true.
(4) Both Assertion and Reason are correct and Reason is the correct explanation of Assertion

ﬁmﬁﬁﬁﬁmﬁ,aﬁﬁmﬁﬂwﬁaﬁww%mﬁﬁmﬁﬁaﬁ?ﬁmﬁrﬁaﬁﬁﬁﬁé

e o1 99 hL

sRrRaT G@ﬁﬁﬂﬁiﬁﬂfﬁ?ﬂﬂﬁﬂﬁ%%gm%%ﬂﬁﬁ%ﬁ@ﬁﬁﬁﬁ%mﬁ
Jort 1 wEEel SR 3T ¥ IS 9 Seid FHenedi i W@ i 2

HNUT : o Tt G W TS G 9 F G, TS | ST d, 3T Wid Haaie
9 3 TEl THA o Heh |

(1) e i HROT FE § Sl IO, ATHFIT HT T e 7 ¥

(2) SRR Y T ¢ wfeh ShITUT 3T ¢ |

(3) fuehe STH € T T TA ¢

4y —rfirehert iR s S e € STR T, SHHHAT i WE e 3y

P-1 [N WRnn 22
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s '
68 heﬁal::a:c?cj:;dnf Environmental Studies teaching class IV. She forms two groups of children
Why did Archana ur;l:ts a debate activity on the topic “Should the school have uniforms or not”.

apprnpriﬂte reason 9 anize a debate in her class ? Which of the following may not be the most

Debate ¢ :
(A) tﬂ;iie &1ves children gp opportunity to think about and understand different aspects of a

(B) Children are encourg
(C) Children get an opp
(D) Children assegg the know

(1) (A) (B) and (C) (2 (A), (C) and (D) (3) (B)and (D)  (4) (B), (C) and (D)

W’WHﬁEWaqwmﬁﬁfw%lagmwﬁ =i h 31 HYE I § 3R ¢ foremerg
T 19V W AR foarg Tfafafe a1 e Y stoet e # ae-faar w6

ged to express their views in the classroom.

69. Read the Assertion (A) and Reason (R) carefully -

Assertion (A) : The goats from which the soft pashmina wool is c

. ollected are found on very high
altitudes of 5000 meters in extreme cold.

Reason (R) : A coat of warm hair grows on goats body which protects it from extreme cold.
Choose the correct option from the following :

(1) Both (A) and (R) are true but (R) does not explain (A)
(2) (A) is true but (R) is false

(3) (A) is false but (R) is true

(4) Both (A) and (R) are true and (R) explains (A)
ARFHAT (A) T FHROT (R) I A7 T 4G

ARIHA (A) : T SRl o STl 4 ﬁﬂ%%?ﬂﬂ?ﬂﬁﬂﬁ%ﬁﬁﬂﬂﬂ%ﬂﬂ%iﬁﬁﬁm

SITd & SRl ogd Hal ISt 7
T (R) : wﬂﬁﬁaﬁ%ﬁwﬁﬁ%ﬁwwaﬁﬁ%wwmﬁl
Fretfenfiad & @ @ faded 1 T -

(1) 2ri (A) T (R) T € 7579 (R), (A) F1 =2r@n & e

Q) (a)=E E A (R) TR

3) (a)Tem ¥ A (R) §E €
MHA)@(RW@%W(R)I(A)#TWW%

: 23 I
B0
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70.  Chapter 4 “Mangoes Round the Year” of NCERT Environmental Studies textbook has a story

making mango papad : derstand the process and technique but 4

pad so that children not only un : L
appreciate the skills of cooking and preservation. AS per NCF 2005, which general objectiy = 0
teaching EVS is being achieved through this lesson ? !

(1)1*5T6 develop an understanding of how Aam papad is made.

(2) To explain how much labor is needed to make an object.

(3) To discuss how various things can be made from the natural environment. _
(4) To develop understanding with the help of observation and examples related to oy

experiences in place of abstraction. =5 g
T 3 e s ) g A 47 97 127 o s e 51

%mﬁmﬁqﬁ?maﬁ(nmﬂ*ﬁﬁlm,Wwaﬂimwﬁmﬁaﬁmﬁ;ﬁ
ﬂmﬁﬂfaﬁmzﬂns%m;wu,mma%mmﬁéﬁr@q@ﬁmﬁmmmaﬁﬁ w

®E?
(1) ™ 9vs fohg g’ | A St & saat gug fashtyd HTT
(2) ﬁﬁaﬂaﬁwﬁﬁ&nﬂaﬂaﬁmaﬁ%mamﬂrml

(3) WW@WWﬁﬁfﬂﬂaﬁ@aﬂﬁWHﬁ%mﬂml :
Nﬂﬁf?%ﬁaﬁﬁﬁ%m@ﬁ@mﬂﬁﬁw@ww GED

\_(4) Sd % M W S
EXGIR
v, ead the following statements and choose the correct-option.
= ssertion (A) : Biomass and Fossil Fuels are the two main conventional sources of energy.

Reason (R) : Conventional sources are those which are renewable in nature.
(1) Both (A) and (R) are false (2) (A) is true, but (R) is false
(3) (A) is false, but (R) is true (4) Both (A) and (R) are true
ErfefEd o 1 UigT Td wel fashed FHT -

IR (A) : S5 HTE TS SaTed 6, Q1 Sl o LRI I € |
qriqfi Eid 3 & foiehl TUTE TelehLviid =idl ¢ |

&7 (R) :

(1) 2 (A) 3R (R) T € (2) (A) W& ¥ 3R (R) Tord §

(3) (A) TeTd & 3 (R) e © (4) <HI (A) IR (R) TET 8
79 The state/union territory having coast on the Bay of Bengal is :

(1) Andhra Pradesh (2) Karnataka

(3) Kerala (4) Telangana

ST F @I W THE 92 dre 54/ heentad g Frefafed § § s 2

(3) HT (4) deE
p-1 [INIIITAILN 24 . popi
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73 has been observed that some mistakes are made while observing the learning and progress of

*_ehildren. These mistakes may be the result of our biases. Which of the following information should
not be recorded as a biag ?

(1) Social background of the child. |

(2) Samples of the children’s work in the portfolio.

(3) Prior experiences regarding the ability and performance of the children.

(4) Previous results related to the examination of any one subject and any area thereof.

T I T © TR S % v aiv wif o sreieR F0 T F9 Tl @ S €1 78 et g
qarR! <R AROTH & Wbl € | Frefefian 8 @ S T HE O a0 % w9 H <5 T S witen 2

(1) = W gy

@) TeHTEn S & wm g

(3) mﬁmamﬁmﬁq%ﬁﬂﬁ%ﬁ%&ﬂ'ﬂl

(4) TS T fou iR sus Rt uw o o wlen @ S gd o

74, Cows have fShmrt front teeth and Large and flat side teeth for which one of the following ?
(1) Chewivmg grass and snipping grass respectively
(2) Cutl:mg grass and gnawing grass respectively
(3) Gnawing grass and cutting grass respectively
(4) Smppm'g grass and chewing grass respectively
T < 3T o <1d Sie a1 99 & o 99¢ ik 92 21 &1 T 1 2 & 2
(1) SRHST: =H S€M q°1 919 Hed & fag
(2) SHHEY: =M $He- 991 919 hl FaA & fog

(3) THHY: HH Fal U1 =H hl hied & o

\_{4)— HHT: S 1 1 =E FaH o e

75. A person would not drown in the dead sea or a salty lake even if the person does not know how to
swim. This is due to:

(1) low density of sea water
(2) neither high nor low density of sea water

(3) volume of sea water
(4) high density of sea water

ue SfaR g HE A1 TR el H TR e el € o G 7 S 2 | S o ©

- T % el 6 T
R a7 5 90 #1715, 1 1

(3) R % I A
(4) W a;q]'-'-ﬁ chl 3= ©d™

76. Child describes different skilled work related to farming and their inheritance (from elders) in

daily life. _
The above statement 15 : -
(1) Learning outcome (2) Learning indicator
(3) Learning U‘bjECﬁTE (4) iStatement of competency
Wﬁfw@mmﬁﬁﬁ@ﬁaﬁﬁﬁmﬁmﬁmﬁm (S &) 1 9ol e R
IR O ©
\__Hi@gd & el (2) HrEd % ga&
(3) g & (4) qa FHEA
T 25
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@ How much time ‘boiled milk’ takes for digestion in the stomach ? Choose the correct answer

the fﬂﬂﬂWing :
(1) 3 hours (2) 4 hours (3 5 hours (4) 2 hours
S §ON g4’ A< F v H foren o el &7 ﬁwﬁr@aﬁauﬁwﬂﬂﬁlﬁ
eI 13 S 2) 4% (3) 57 4) 2
78.  Which one of the following is a group consisting of Elemen.ts only ?
(1) Bronze, Copper, Aluminium (2) . Steel, Iron, Zinc |
(3) Tin, Lithium, Sodium (4) Sodium, Brass, Potassium prge
T AERA N ' 4
FHfaiad 3§ 9 9 91 998 Shae aol 9 o711 8 2 ﬁ?ﬁr\
(1) 1S, iR, TgiHfam (2) e, @, S
(3) T, fafrm, Wfeaw \_(4)— Fifeem, s, TR

ce in the textbooks g

te reason ?
and stories witl

79. What is the reason why tales and stories have been given an important Pl_ﬁ
Environmental Studies ? Which of the following may be the mu%it appropria :
(A) At the primary level, the teachers of Environmental Studies narrate tales

interest, that is why they have been given an important place. . | : .
(B) The use of stories has often been considered important in developing children’s sensiivity f

environmental issues. _ P
(C) Because children easily relate themselves to the characters of the story, that is why they hav

been given an important place in the textbooks. |
(D) Tales and stories are liked by the society, that is why they have been given an importan

place in the textbooks of the environment.
(1) (B) and (C) 2 ©and (D)  (3) (A)and (B) (4) (A) and (D)

=1 FRO & FoF Taiawor e o TSIl 1§ e SR el ol Heerqul € fean e § ? f=fafen

3 QT FR IFH FT S AR
(A) WIHF TR R e e & e fF R FEfel F s e g © gHifae 56
TEegul T fer 7§
v(B) o=l I TAEX  Haiftrd qg) o 9fd HagTeliern faewiia s % fou orr e oiR FeifEl &
TIHTS HEd YUl |1 T ¢
Siifeh o= el oh G 9 3T T9eh! STHHT § S oy & K| '
C) oy mmwaﬁﬂﬁﬁww

(D) e SR FRIfTa FHIS Fl 0 & T S0t wafemor 31 ey 4t v e
\_W—B) IO @ ©OMMD) - (@) (A) s e s

80. Lesson 13 in NCERT's Class V Environmental Studies text : L e
“Gaurav Jani”. This lesson is a part of which of the fnllmi;?fhgescn.]; es the amazing journey 0
mes |
(1) Shelter (2) Interrelal‘innship
(3) Work and Play (4) Family anq Frionde

TTHIRHAIE & TG ST47 6l dierell FE A TRy i ©
el #1798 W Freffafan A 4 A A o gy A S 3 ST A

T (2) 9 Gy

(3) M SR Geq (4)  RER siy figg
P-1 A A 26
e ————— S ——
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| 1'7’0 jndian birds make nests which hang from the branches of trees or bushes. These two I:::irds

AR i
-bird and Ta; ; _
(1 ?;Enr bird angalimi bird (2) Barbet and .Sun—blrd |
@) qeft dian Robin (4) Indian Robin and Weaver bird
2 A T T N D Y 3t . sy crespen ireen w14 A e v €

gead the Assertion and Reagon properly.

) on

: Aﬁﬁemﬂ_n ) iln elephant herd has only female and baby elephants.
R - ale elephants leave their herd after 14 - 15 years and move around alone.
Choose the correct answer from the fﬂllﬂwing :

(1) i A_ESE#'*““ and Reason are true but Reason is not the correct explanation of Assertion
(2) Asserlion s true but Reason is false

3) Assertion is false but Reason is true
(4) Both Assertion and Reason are true and Reason is the correct explanation of Assertion

W@Wﬁ’ﬂﬁﬁﬂ%

AR B! <3< H oot gfafmal oK o= 21 @ € |

T : T 14 - 15 W1 98 ge Bie 2 € i 3Tehel T&d B

(1) S, SRTR G T T ¥ fopeq T, TR I WE A TE A €
() ITRAT Tl & T whmeoT TTera ©

\ (3)_3feRe Terd © foheg st wE €

4) S, SARTRAT T HTOT TE & TF RO, TR i TE AT F T

. Read the statements I and II.
Gtatement I :  Due to anaemia, children do not grow well, and their energy levels are low.
Statement II : Anaemia affects both, children’s physical as well as mental health.
Choose the correct answer from the following :
(1) Both I and II are false (2) 1is true but II is false
(3) 1is false but Il is true (4) Both I and II are true
97 [ T 11 &1 & 9 T |
FATL:  SHITHA 6 H go1 S W 9% el U & SR 3TH Fadl o HH B T |
SO 1] S @ i AR 3T fermtt dgesdl T 3TH hidl © |

ﬁﬂﬁﬁﬂﬂﬁﬁﬂﬁdﬂ{gxz :
\_g—2ti 1 w8 11 7T € | (2) 1EE & fereg 11 7Tt &
(3) Inﬁa%mlmﬁl%l (4) 1 I TR ¥

4. Select the correct match from the following :

_ : 2) Lavani - Tamil nadu
1 - Assam (

EB)) gﬁ\;am:tyﬂm _ Odisha (4) Kathak - Karnataka
Froffiga § & T8 e 9

W (2) e - qfEeTg
- HAYH
o) % B E1kL (4) HYH - hriiech

T

el I

B S - 5 §
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galore. The

an express train on 30 January 2023 at INe 315 Tanuame:
dE‘PﬂI‘tEd from N ‘ _ hed Ban alore at 17 : (X hours on ] llar],,_-
S G o e ore bgy train route is nearly 1776 km. Thg

2023. If the distance between New Delhi and Bangal
average speed of the train during this Journey was : I
B EOUETEY m?m,@qgﬁ—ﬁ’rm?:owﬁmaﬁ

Uk SAfe 1 30 e 2023 F1 7 et R § ATE F _
ﬁ?l?:ﬂﬂﬂﬁwmmﬁﬂmmaﬁaﬁqaqﬁﬁwﬁﬂiﬁv—ﬂ siy dmepe & A P T,

1776 feeietiex &, @ 37 #t Y = &t sfea 7fd 41 &l ?
(1) 8072 km/hr (2) 7721 km/hr (3) 71.04 km/hr \%47‘74—‘*“:‘/ he
be LEAST likely to occur?

86. Inachil : i tivities would
a child centered EVS classroom, which of the following ac e ANy of e childral

1 T : - ccordin
(1) The seating arrangement will be seen to change a gdiscussing in the class.

(2) Children will also be seen sharing their experiences while
(3) Children will be seen in the classroom, listening to the teacher.

(4) Children will be seen actively working in a variety of achvities.

TIIER0] LTI qlﬂ%&ﬁﬂﬁfﬁﬁﬁ@ﬁﬁﬁﬁ?ﬁ%ﬂﬁﬁﬂﬁﬁ@ﬁﬁ?
(R~ it i s 35 v 43 6 e et A e <
et A =) Fa § == FE g Y TN Fiea ge ot fe <

(3) o= e H, fYrerw 1 GAd gy fa@E <
@) = e F e | i da s w0 ge e <

@t is 10 A.M. now in India today, it is around noon of today in .
( (4) London

(3) Singapore

1) Karachi (2) Japan .
ST 319 UG § 10 AM. 99 © 1 3T & _ T ST HEARA © | _
(1) w @ P AT Al

88. Siddhi is a teacher of class 4. She takes all the children of her class to the playground to play
tu, hu tu tu” of the NCERT Environmental Studies

Kabbadi, while teaching them lesson 10 “Hu tu
lains the rules of this game to all the children. Why

textbook. Before playing the game, she also exp
does the teacher tell the children the rules before playing this game ? Which of the following may

be the most appropriate reason ?
(A) She wants to draw the attention of the children that in life like in sports, we make rules.

(B) So that all the work is done properly.
(C) We are all bound by the rules in the same way in the society by which we settle difference:

and conflicts among ourselves.
(D) B making rules, the attention of all children is much more on the rules than on the game.

y
(1) (A) and (B) 2 ©and (D) (3 (A)and (D) (4) (A), (B) and (C)
fafig, T HET4 Fi FUfereh1 €1 9 ST Fall 6 = hl CRASARE o ioe S7eaeq F IS &
9510 “E 94, § 9.1 9eH & g @il sl =l 9 Wl % HeH § & W Fasl O Faermd & | T G
ﬁqﬁ%ﬂﬁaﬁﬁm@ﬁﬁﬁﬂﬂﬁm%rﬁfmwmaﬁwﬁmﬁmmf B
29 fafafiad § 9 wF 91 a9 UG HR0T Bl Hehell § 2
(A) @€ a1 P §H SR T =t © 5 Tt 1 Wwe @ S .
(B) e Hii % Wel & | o S| LIRS
(C) 7w |+t wArs H gt yehn A fradi 9 58 € e gy ey - E
(D) ﬁmmﬁﬂnﬁqmﬁmm@aaﬁaﬁ&nﬁmma@aﬁégﬁfmm 3

[DEEEE) 2 OO 6 Wk |\ g et
p-1 (NI 28

L e e
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89. A teacher in his environmental studies class, divides the children into groups and asks them to
collect some objects present in the school. After that he sits with the children and asks them to
distribute those objects into different groups. Children divide objects into different groups on the
basis of their properties. What could be the most appropriate purpose for the teacher to conduct

this activity ?
(1) By doing the activity, children make very few mistakes in understanding the definition and
facts. -

(2) Activity strengthens the cognitive domain to-a.greater extent than the other domains of
learning in children. -~

(3) The activity develops the child’s understanding of all the concepts.
(4) At the primary stage, children learn better by:interacting with each other.

qmﬁm%aﬁmfawawﬁwﬁaﬁﬁwﬁw,ﬁmmﬁmm@m@mﬁ
1 FE 2| T 91E 98 TS ¥ Gy Ao 37 sl Fi fafE e § Fie % g wed € | o= aEget
7% O % SR R Fafve e A wie 23 ¥ 1 e ¥ 510 39 ffafy H U B g SR S
2l Tehal & 2 |

(1) Tifafafy e & o= aftme ok qedi S guen # Fgd HH Teradl I <
(2) Tt a= o Hes & o1 vall S ger § e Y& i Fh €S e ASTEd Ll ¢ |
(3) Tfafaf o= & weft sguronsl wt wHe faenad Fid T

\_(4) Tt TR T T T GE o 1Y S {5 R gE See ik § §iE Wi €

90. Read the statements A and B carefully -
Statement A : During the cold season lizards gointo a long and deep sleep.

Statement B : Some animals go into a long, deep sleep in certain seasons.

Choose the correct answer from the following :
(1) Both ‘A’ and ‘B’ are correct but “B” does not explain “A’.
(2) ‘A’is correct but ‘B’ is incorrect.
(3) ‘A’ is incorrect but ‘B is correct.
(4) Both ‘A’ and ‘B’ are correct and ‘B’ explains “A’.
F99 A TS B &l 4F ¥ UG :
FUT A ;o€ & AEd H fEusfed et $iR = fErd = S ©
FOB: T G, FO TR, Tl o 6 5 R F
frefafad § & Hq& ST R A |

\_ (1) ‘A 3B’ W © TG B, A7 T W e Ak )
(2) ‘A’ |E & W ‘B’ e B
(3) ‘A’ eI & g ‘B’ WE T
(4) i ‘A’ 3TRB T T 3B, A’ Y wEh e )

P-1 I 29 I
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s from Part-IV (Q. No. 91-120), :f

: ”I
U

e —

IMPORTANT : Candidates .Shﬂllld attempt question

opted for ENGLISH as LANG

UAGE-L only. i L
ostions that follow : (91-99) "
. bernath’s Gandhi School. We hag .
Shreeram Lagoo was acting in a play staged 2t 3 mWE left the hostel quietly after ea?in g

get the tickets for the play after much running arounl S NG ding
the mess. The play ste}:rte}::l at 9.30 p.m. and 1t was flready 9.10 P FAHE SR [ were mﬂl‘llng o

road to the station. Suddenly we saw Upadh}’ﬂ}’ji coming from thE'ﬂPPDSitE direction. He '
‘Maharshi, where are you off to at this time. ? he said reprovingly.
We looked at each other’s face. Suddenly Patil spoke up; 'Sir, 1 h gl head%che_ We are ,

the station to have some tea or coffee. We will be back right after driniing SEul E
‘Why, don’t you get tea and coffee in the mess ?’

‘We do, Sir. But today there wasn’t any milk in the mess. That's why we are going to ‘Fi:"
Patil improvised. X

Read the passage given below and answer the qu

Upadhyay said, ‘Come with me. I'll get you some coffee.” He brought us to his home,
for the play were squirming in our pockets. We couldn’t work out how to get him off our bz .

After seating us in the drawing room, he asked his wife to make the coffee and sat on the
across from us. 3

As soon as Mrs. Upadhyay entered the kitchen, I got up and said, ‘Ammaji, Warden g
bothering you unnecessarily. I will make the coffee’. !

She was pleased to see me. ‘Maharshi, you go sit ... I will make it

I went up to her and whispered, ‘Ammaji, both of us were going to the Gandhi

lay. Warden Saheb wavlai ‘ .
En ?};Im.l;}r en Saheb waylaid us and brought us here. See, here are the tickets, but he does .;;;__.__

-
L4
|

Ammaji examined me from head to toe. ‘I see, [s jt a good play ?”

I said , “Ammayji, it is very good.’

‘Then why don’t you go ?’ she said with a laugh.

children go and have some fun ? Go, Maharshi, byt don’t be thl-dE-n are you ? Why don't yot
00 late
91. Mr. Upadhyay’s professional role in the institution AN
e as t
(1) the principal S et at of ..,
(3) the hostel warden (4)

dan g
admuustr a tD r

92. Choose the expression similar in meaning to i
Vis

(1) s to shout 2) to mak t_ad as used in the passage.
(3) to declare (4) ®1ltup
to te]) the .

S T 3
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93.

94.

95,

96.

v i

98.

29,

P-I

Why were the boys sneaking away from the hostel ?

(1) To see a play (2) To have a stroll

(3) To play football (4) To watch a movie

"The tickets for the play were squirming in our pockets

What literary device has been used in the underlinéd expression.

(1) Oxymoron (2) Personification (3) = Simile (4)

Which of the following statements is True /False ?

(A) Mr. Upadhyay met the boys inside the hostel.

(B) The boys were already getting late for the play.

(1) Both (A) and (B) are True. (2) (A) is True but (B) is False.
(3)  (B) is True but (A) is False. (4) Both (A) and (B) are False.

How did Mrs. Upadhyay receive the boys at home ?
(1) She was unhappy to see them.
(2) She received them coldly.

(3) She was displeased with her husband for bringing them home.
(4) She welcomed them.

What did Mr. Upadhyay do after hearing the boys ?
(1) He allowed them to go.

(2) He talked to them and walked away.

(3) He took them home for coffee.

(4) He did not react at all.

Which of the following statements is True/False ?

(A) The boys had purchased the tickets in advance.

(B) Mrs. Upadhyay supported the boys in their endeavour.

(1) Both (A) and (B) are False. (2)  (A) is True but (B) is False.
(3) (B) is True but (A) is False. (4) Both (A) and (B) are True.

‘We had managed ...’ Identify the tense of the underlined expression.

(1) Past Perfect (2) Past Indefinite
(3) Present Continuous (4)

Present Perfect

(TR 31
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Read the extract given below and answer the questio
O what is that sound which so thrills the ear
Down in the valley drumming, drumming ?

Only the scarlet soldiers, dear,
The soldiers coming,.

O what is that light I see flashing so clear
Over the distance brightly, brightly ?
Only the sun on their weapons, dear,

As they step lightly.

O what are they doing with all that gear,

What are they doing this morning, this morning ?
Only the usual manoeuvres, dear,

Or perhaps a warning,

O why have they left the road down there,
Why are they suddenly wheeling, wheeling ?
Perhaps a change in the orders, dear,

Why are you kneeling ?

100. Identify the rhyme scheme of these lines.
(1) abab (2) abcb (3) abdc

101. What emotional state does ‘kneeling’ reflect ?
(1) jubilation (2) indifference
(3) anger (4) anxiety

102. The poem presents itself as a conversation...

(1) between two persons (2) among three persons

ﬂmﬂng d gr{jup of PEGPIE

(3) 1in a crowd (4)

103. Where is the ‘sound’ coming from ?

(1) From a market place (2) From a crowded street

(3) From a group of commoners (4)

104. The poem has been written in the form of ...
(1) alyric (2) an elegy o)

105. Which literary device has been used in the expression s
(1) transferred epithet (2) simile
(3) metonymy (4) alliteration

P-1 | BRI AR O 32

ns that follow : (100-105)

From a contingent of soldiers

an epic (4) a ballad

let soldierg’ 7

(4) baba

g
e
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Words noti ik
e Otced when We read b _
ords that we yg. W eyond the lines.

- Writing anq :
Words which are New tq thegreadeipegkmgi

Which of the follows L
- : ing skills is NOT considered as a mark of reading with comprehension ?

108. 13;1 ;eaiw;zr t;sks her students to reflect on how they have answered an experience-based question
she § em and what and how they were thinking when they wrote that answer. This is an
example of :

(1) Metaphor. (2) Metalingualism. (3) Metasemiotics. (4) Metacognition.

109.

Wl'nﬁlhn of ?the fﬂﬂﬂwing 18 NOT a feature of the Grammar translation method of second language
teaching ?

(1) Learning and practicing the rules of grammar of the second language.

(2)

Communicating directly in second language and then comparing the rules of grammar of
the two languages.

(3) Focusing more on the form than the function of language.
(4) Comparing the grammatical rules of first and second language.

110. Which of the following features of human language enables humans to talk about things which

are not present n immediate time and space ?

(1) Arbitrariness. (2) Structure Dependence.
(3) Discreteness. (4)  Displacement.

111. Which of the following is NOT explained by the concept of Language Acquisition Device (LAD) ?
(1) How children are able to learn language within a short span of 4-5 years.
(2) How children learn figurative language.

)
(3) Why the linguistic output of children is more than the input they get.
(4) How children learn their first language.

112, Which of the following 15 linguistically CORRECT about languages and dialects ?
(1) Languages and dialects are linguistically different but geographically same.
(2) Languages have their own script but dialects do not have their own script.
(3) There is no well-defined linguistic difference between a language and dialect.
(4) Languages have written literature but dialects are only based on oral traditions.

VT L 33 :

CE Scanned with OKEN Scanner



113. Which of the following DOES NOT justify starting reading skills with words and short story e
instead of letters and alphabets ?
(I) Words and texts create meaningful ass
(2) Words and texts are more interesting but letters are not.
(3) Separate letters are more difficult to memorise than words.

(4) Beginner readers can focus better on bigger units ’ﬂhfﬂf1 smaller units.

ociations which letters fail to do.

114. Mother tongue based multilingualism advocates that - :
(1) all children begin their schooling in the language of the Sfiﬂte
(2) all children begin their schooling in English meditm and in home language
(3) all children study Hindi as their first language
(4) all children begin their schooling in their mother tongue or home Iﬂﬂguage

115. Which of the following among Krashen’s hypotheses is similar to Vygotsky’'s ZPD ?
(1) Monitor hypothesis (2) Natural order hypothesis
(3) Affective filter hypothesis (4) Input hypothesis

116. According to Cummins’ interdependence hypothesis, which of these are interdependent on each
other :

(1) Cognitive academic proficiency in first and second.language.
(2) Reading and writing in second language.

(3) Basic interpersonal skills in first and second language.

(4) Comprehension and production in second language.

117. Mark the INCORRECT statement among the following,

di T :
sy regarding text-comprehension
(;) gkimmjng is more about in-depth reading while scanning is more of cursory reading

- " = t f - L] i ;2 . y
(2) quk]emsgﬂlmng, 1s more apt for reviewing while scanning helps more with answering particular

(3) Both skimming and scanning involve rapid €ye movement through the text
4) Skimming involves going through the text ramp: : e : L,
¢! facts. ‘ s : = rapidly while scanning involves looking for specific

118. When children start using language to ask about thin
which of the following functions of language is used H%E;_:Eﬂts and phenomenon around them
(1) Regulatory. (2) Informative. (3) Heuristic an the ﬂ'(g;ersl? oy

: ; maginative.

119. In a speech community, it is observed that ‘s’ is prome. _ :

economic groups of speakers. This difference ig aﬁ E?{I;iluliCEdfdlfferently by two different socio
: * nple of -

(1) A pragmatic variable (2) A SDCin-qull;ﬁ r[; -

(3) A socio-psychological variable  (4) A SDCiU-Hngui:lﬁ Variable

oFSUC variable

120. Veera is a seven month old infant. She is now mak;

; baifle ; ; NG Vocalizat:
vowels. She is communicating using which of the 2 Pcalizationg that combine consonants

follow
(1) Babbling. (2) Cooing. = 8°
(3) Linguistic speech. (4) Phonemeg

P-1 T 34
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Y -1v
e -1 : =)

— B YR _ it
T AR W1V (W, 919 120 ) % e % 9 et o & 2% S -1 7 e feed |
TR |

Pt eI it et 3 T et 24 v 8 o, werd S fehe o e A (9199
AR ST N YR 30 o 2 v e 4 7 5 Forer 3 fere, e 3 A gfen 1 @i 3
faeT TR Y€ F 9 A o o o | ) e o o i ¥ sl s o el e A <
SFFET I SN W st iy sy o et #1 4 el o6t ol el 1 A, WA Hewd A o)
T 3 S SffHfen @i 3 Raeme orerd  fed € a1 e ot 2 @1 39 el el & w3
<@ {5 W S it siien wHfaes g & sifu @ of |
TET TSRV < Sg et ¥ forsapd forapren for afe & 7ot AT Yafdl @1 T fag T Hiad o Gehd &

R 3% TS Sl # forefiv o wemt & 01 3 v wi<ry Sofl i Te@a 4 S @il #1 g 0 3 wam e
SR T 8T WIS T ot |

91. M HN ¥F F IR WHfdS &R % IREds $1 Fel T 8 |

(1) TSAM (2) FEEM (3) HeES A (4) &AM
92. ‘IfqfHfed’ 1 T v T © |
(1) wf=fE (2) T (3) wHEIS (4) wwfed

93. WM YfEdd Fd BH & ?
(1) WAHYEH ¥ FH & BRI
(2) 319! HiHAT Bl G H & FATE] 6 BRI
(3) UREdT Wad: B el ufshan §
(4) WS A % faRE & SR

94, ‘difder’ ¥ g1 VIS 91 T ®© |

(1) ¥d+ %k (2) aﬁ+§$ (3) 0ifd + & (4) @+ fow
95. ‘SENerd ol k1 Ad ® |

(1) TEH S (2) IRURIA () FTHARIS  (4) TS H oA
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PART -V
LANGUAGE - Il : ENGLISH

"IMPORTANT : Cand; = ; s
I Candidates shoylg attempt questions from Part-V (Q. No. 121-150), if they have
o Opted for ENGLISH as LANGUAGE-II only.

Read the passage given bel

A couple of days later,
largest auditoriums in town

Lata and Malati both

— =

OW and answer the questions that follow : (121-128)
there was a music recital in the Bharatendu Auditorium, one of the two
One of the performers was Ustad Majeed Khan.
_ ; A, Managed to get tickets. So did Hema, a tall, thin and high-spirited friend of
Sﬁeii lhrnt;ll:ii Wlﬂ; nnumerable cousins-boys and girls-in a house not far from Nabiganj. They were
T 1'3 St Strl::t elder member of the family who was referred to by everyone as Tauji.
B o Gf] N a _‘}mte a job on his hands, as he was not only responsible for the well-being and
kjEd i € girls of the family but also had to make sure that the boys did not get into the countless
Kinds of HUSFhlEf that boys are prone to. He had often cursed his luck that he was the sole representative
 a unversity town of a large and far-flung family. He had on occasions threatened to send everyone
straight back home when they had caused him more trouble than he could bear. But his wife, Taiji to
everyone, thought she herself had been brought up with almost no liberty or latitude, felt it was a great
pity that her nieces and grandnieces should be similarly constrained. She managed to obtain for the girls
what they could not obtain by a more direct approach.

This evening Hema and her cousin had thus succeeded in reserving the use of Tauji’s large maroon
Packard car and went around town collecting their friends for the concert. No sooner was Tauji out of
sight than they had entirely forgotten his-outraged parting comment. “Flowers ? Flowers in your hair ?

Rushing off in exam time- and listening to all this pleasure - music! Everyone will think you are completely
dissolute-you will never get married.”

121. Identify the tense of the given expression “...... had thus succeeded...
(1) Past Perfect Tense (2) Simple Present Tense
(3) Present Perfect Tense (4) Simple Past Tense

122. How did Taiji manage to get concessions for the girls ?
(I) By persuading Tauji (2) By fighting with Tauji
(3) By adopting an indirect approach (4) By arguing with Tauji

123. What cultural show was being held in the town ?

(1) A dance performance (2) A classical music recital
(3) A blockbuster movie (4) A popular play

124. By nature and beliefs, Tauji can be described as a/an...
(1) liberal (2) anarchist (3) agnostic (4) conservative

125. Identify the word nearest in meaning to ‘constrained’.
(l) Caught (2) CaninEd (3) lﬂid (4) arrested

126. What was Tauji’s duty as a family patriarch ?
(1) To keep a strict watch on the youngsters’ activities
(2) To get the youngsters married
(3) To cook for the youngsters
(4) To teach the youngsters

ST 39 I
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| ?
127. What does the underlined expression 'the boys are prone to' meax

(1) not likely to have/ get (2) impnsﬂible to ha:E/ get
(3) likely to have/get (4) gu,re_1_tﬂ have/ ge

128. State which of the following statements 1s True/False.
(A) Taiji was relatively liberal in her approach. '
(B) Lata and Malati could not obtain tickets for the recital. =~ 1
(1) Both (A) and (B) are False. (2) (A) is True but (B) is False.
(3) (B) is True but (A) is False. (4) Both (A) and (B) are True.

embarked on board of a good ship and set sail. One day we landed on an iSIE‘_nd covered with severa]
sorts of fruit trees, but we could see neither man nor animal. While some diverted themselves with %

gathering flowers, and other fruits, I took my wine and provisions and sat down near a stream betwixt :

two high trees, which afforded a delightful shade. I made a good meal and afterwards fell asleep. When :
I woke up, the ship was no longer in view. ;
In this sad condition, I was ready to die with grief. When I gazed towards the sea, I could discern i
nothing but sky and water, but looking over the land-1 beheld something white, and coming down, |
took what provision I had left and went towards the object which was so distant that at first could not
distinguish what it was. f
As I approached, I thought it to be a white dome of a prodigious height and extent. I drew near to -
it, and walked round it and found no door to it. I found that I had not strength nor activity to climb iton
account of its exceeding smoothness. I went round the dome measuring its circumference. I meditated
upon some means of gaining an entrance into it but no means of accomplishing this occurred to me.
By this time the sun was about to set, and all of a sudden the sky became as dark as if it had been
covered with a thick cloud. I was much astonished at this sudden darkness but much more whenl
found it occasioned by a bird of a most extraordinary size that came flying towards me. I remembered
that I had often heard mariners speak of a miraculous bird called the roc, and conceived that the great
dome which I so much admired must be her egg. Shortly afterwards the bird alighted and sat over the
egg. |
129. The narrator left Baghdad because....
(1) He was weary of the city
(2) He was keen to visit another city
(3) He did not want to live a lazy life
(4) Both (1) and (3)

130. What did the narrator do after reaching the island ?
(1) He gathered fruits and flowers.
(2) He chatted with his colleagues.
(3) He sat down for a filling meal.
(4) He took endless strolls around the island,

131. Choose the word nearest in meaning to the underlined worq . * of a prodigious height ¢ 3

extent.’
(1) large (2) narrow (3)  marvelloys (4) tall
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132.

133.

134.

135.

136.

137,

138.

139.

140.

141.

Identify 1:.he Part of Speech of the underlined word in the expressi
(1) Adjective (2)

Conjunction (3) Preposition
After realising that the gh;
(1) was shocked
(3) did not react

p had left, the narrator.....
(2) was relieved
(4) felt amused

on: ‘... to die with grief
(4) Adverb

Identify the tense of the underlined word in: ‘I drew near to it....

(1)  Simple Past (2) Simple Present (3) Future Perfect
The “White dome’ finally turned out to be...
(1) a royal palace (2)

a place of worship
(3) a luxurious mansion (4)

a massive egg

Which one of the following is NOT true about an assessment ?
(1) It presents concrete evidence of the student’s performance.

(2) It helps to evaluate the pace of a student’s progress.
(3) It can only be done by the teacher.

(4) It provides a holistic view of the student’s progress.

(4) Past Perfect

Which genre of stories are the most relevant to propagate multilingualism and multiculturalism ?

(1) Autobiographies. (2) Science fiction.
(3) Lengthy tale. (4) Folktales.

Which of the following is NOT true regarding the Monitor Hypothesis given by Stephen

Krashen ?

(1) Itis based on the relationship between acquisition and learning.

(2) What is “acquired’ helps in monitoring what is ‘learnt’.

(3) The learner can only monitor if s/he has enough time and enough knowledge of the rules.

(4) Itis used in the context of second language acquisition.

Which of the following would not help in textual comprehension

(1) Alphabet charts. (2) Theme-maps.
(3) Picture dictionaries. (4) Word-maps.

and vocabulary development ?

Which of the following is NOT a desirable feature in children’s literature ?
(1)  Explicit moral values. (2) Big font size and familiar words.

(3) Attractive pictures. (4) Animal characters.

Which of these statements is CORRECT regarding the two major types of assessment ?

(1) Summative assessment is about the sum total of every form of assessment through the year.
(2) Formative assessment goes on continuously through the learning phase.

(3) Summative assessment is done before and during the learning phase.

(4) Formative assessment focuses on the form rather than function of learning,

P-1 (NN 41
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142,

143.

144.

145.

146.

147.

148.

149.

150.

P-1 {00 NER A 4z

Which of the following is NOT a feature of communicative approach 7 '.:l'

(1) Contextualised use of language. % .
(2)  Discovering rules of grammar instead of teaching explicitly.  (
(3) Developing communicative competence.

(4)  More focus on form than function.

A teacher teaching English as second language to Hindi-speaking students valdes them} contexts
and :::-ppn:»rtunities.g to Engage in little cﬂngvuerfaﬁﬂm in English wﬂhuut‘ telling them explicit rules,
She presents examples before them wh.ichthey use in their conversations. Gradually, they come s
up with rules on their own with the help of the teacher. Which model/ approach do you think the “
teacher is following ? |
(1)  Audio-lingual method. (2) Communicative approach.

(3)  Direct method. (4) Grammar translation method.

When a beginner reader uses his /her general knowledge about the text theme, cultural aspects
etc. to make sense of the specific textual content, it is called :

(1) Top-up approach. (2) Bottom-up approach.
(3) Bottom-down approach. (4) Top-down approach.

Which of the following is NOT considered a major domain of learning ?
(1) Socio-cultural (2) Affective (3) Psychomotor (4) Cognitive

Which of the following DOES NOT help in creating an inclusive classroom ?
(1) Giving team-tasks.

(2) Adopting a multilingual approach.

(3) Having some students as monitors in the class.

(4) Peer-group interaction and feedback system.

Which of the following is NOT an example of formative assessment ?
(1) A term-paper at the end of the session.

(2) A combination of a comprehensive written test and few other tasks scattered over a period
of time.

(3) Assessment strategies ranging from short tests to peer-reviews throughout the session.
(4) A series of oral and written tasks, role-play etc. throughout the session.

Error-analysis is important in order to look at the gaps in learning because :
(1) Errors are a window into the minds of the learners and their s
(2) Errors indicate a lack in the understanding of the learners.

(3) Errors show extent of concept development and motivation.
(4) Most errors are caused by callous attitude of the learners.

tage of learning.

Reading or writing ‘p” as ‘b’ or “6" as "9" is a common error amon

(1) Aphasia. (2) Anomia. (3) ' Dyslexia  Cer A

(4) Stuttering.

Basic Interpersonal Communicative Skills is known as :
(1) Language of abstraction.

(2) Language used for day-to-day communication.
(3) Interlanguage.

(4) Higher order language skills.
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